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3HUNHPEDQJDQ�HNRQRPL�GXQLD�PHQGRURQJ�SHUXVDKDDQ�GDODP�QHJHUL�XQWXN�
PHODNXNDQ�HNVSDQVL�ELVQLVQ\D�NH�OXDU�QHJHUL��%DQ\DN�IDNWRU�\DQJ�PHQGRURQJ�
SHUXVDKDDQ�PHODNXNDQ�KDO�WHUVHEXW��7UDQVDNVL�GHQJDQ�QHJDUD�\DQJ�EHUEHGD�
PHQ\HEDENDQ�WHUMDGLQ\D�QLODL�WXNDU�PDWD�XDQJ�DVLQJ��7UDQVDNVL�PDWD�XDQJ�DVLQJ�GDSDW�
WHUMDGL�GDUL���DNWLYLWDV��3HUWDPD�DGDODK�WUDQVDNVL�HNVSRU�LPSRU�\DQJ�GDSDW�
PHPSHQJDUXKL�SLXWDQJ�GDQ�XWDQJ�VXDWX�SHUXVDKDDQ��.HPXGLDQ�\DQJ�NHGXD�DGDODK�
SHUXVDKDDQ�PHPLOLNL�DNWLYLWDV�GL�OXDU�QHJHUL��,QGRQHVLD�PHUXSDNDQ�VDODK�VDWX�QHJDUD�
\DQJ�SHUXVDKDDQQ\D�PHODNXNDQ�LQYHVWDVL�NH�OXDU�QHJHUL��6DODK�VDWXQ\D�DGDODK�37�
*:6�\DQJ�PHPLOLNL�DQDN�SHUXVDKDDQ�6*�/7(�\DQJ�EHUNHGXGXNDQ�GL�6LQJDSXUD��'XD�
SHUXVDKDDQ�LQL�PHQJJXQDNDQ�GXD PDWD�XDQJ�\DQJ�EHUEHGD� 6*�/7(�VHEDJDL�
SHUXVDKDDQ�DQDN�GDUL�37�*:6�DNDQ�PHPEHULNDQ�ODSRUDQ�NHXDQJDQ�\DQJ�WHODK�
GLWUDQVODVL�NHSDGD�37�*:6�XQWXN�GL�NRQVROLGDVL��3HUODNXDQ�WUDQVODVL�ODSRUDQ�
NHXDQJDQ�WHODK�GLDWXU�GDODP�36$.�1R������SHQ\HVXDLDQ��������'LMHODVNDQ�PHQJHQDL�
SHQJJXQDDQ�NXUV�SDGD�EHEHUDSD�DNXQ�DNXQ�GDODP�ODSRUDQ�NHXDQJDQ��6HOLVLK�DWDV�
WUDQVODVL�ODSRUDQ�NHXDQJDQ�\DQJ�WHODK�GLODNXNDQ�DNDQ�GLPDVXNDQ�NH�GDODP�2WKHU�
&RPSUHKHQVLYH�,QFRPH��'HQJDQ�PHODNXNDQ�SHQFDWDWDQ�GDQ�SHQJXQJNDSDQ�VHVXDL�
GHQJDQ�36$.�\DQJ�EHUODNX�GL�,QGRQHVLD��ODSRUDQ�NHXDQJDQ�WHUVHEXW�GDSDW�GLNDWDNDQ�
ZDMDU�GDQ�EHEDV�GDUL�VDODK�VDML��'HQJDQ�EHJLWX�SHPEDFD�ODSRUDQ�NHXDQJDQ�GDSD�
PHQJDQGDONDQ�ODSRUDQ�NHXDQJDQ�WHUVHEXW�XQWXN�PHQMDGL�GDVDU�SHQJDPELODQ�
NHSXWXVDQ�
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